Homework # 11                                                                                                    SCI 1300 


Name:_____________________________                                     

1. Below is a table listing the population of the City of El Paso from 1890-2000. Graph the data!

	Year
	Population

	1890
	10,338

	1900
	15,906

	1910
	39,279

	1920
	77,560

	1930
	102,421

	1940
	96,810

	1950
	130,485

	1960
	276,687

	1970
	322,261

	1980
	425,259

	1990
	515,342

	2000
	563,662
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2. The growth of the El Paso population is a rather bad model for exponential growth. Give some reasons to explain why El Paso’s population has not grown according to an exponential model.

3. Sweden’s population, on the other hand, has experienced nearly perfect exponential growth in the twentieth century. Give some reasons, which might explain why Sweden’s population has fit the exponential growth model so well during this time period. (This will require that you find out what is special about Sweden’s history, geography, people, etc.)
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